THOMAS STREET IMPROVEMENTS MITCHELL ROAD to CLIFF GOOKIN CITY OF TUPELO, MISSISSIPPI

BID PROPOSAL (# 2025-025PW) (08-21-2025)

Proposal of Phillips Contracting (a. Inc. (hereinafter called "BIDDER"), organized and existing under the laws of the State of Mississippi, doing business as Conference.*
To the CITY OF TUPELO, MISSISSIPPI, (hereinafter called "OWNER").
In compliance with your Advertisement for Bids, BIDDER hereby proposes to perform all WORK for THOMAS STREET IMPROVEMENTS, MITCHELL ROAD to CLIFF GOOKIN within the time set forth herein, and at the prices stated below. These prices are to cover all expenses incurred in performing the work required under the CONTRACT DOCUMENTS of which this Proposal is a part.
By submission of this BID, each BIDDER certifies, and in the case of a joint BID, each party thereto certifies as to his own organization, that this BID has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this BID with any other BIDDER or with any competitor.
BIDDER hereby agrees to commence work under this contract on or before a date specified in the NOTICE TO PROCEED and to fully complete the project within 180 consecutive calendar days. BIDDER further agrees to pay as liquidated damages, the sum of \$750 for each working day after applicable completion dates per each phase of work as provided in the General Conditions.
BIDDER acknowledges receipt of the following ADDENDUM:
#2 - 8/25/25
*Insert "a corporation" "a partnership" or "an individual" as applicable

THOMAS STREET IMPROVEMENTS MITCHELL ROAD to CLIFF GOOKIN CITY OF TUPELO, MISSISSIPPI

BID PROPOSAL (# 2025-025PW) (08-21-2025)

The BIDDER agrees to perform all WORK for the construction of THOMAS STREET IMPROVEMENTS, MITCHELL ROAD to CLIFF GOOKIN as described in the CONTRACT DOCUMENTS and shown on the Construction Plans for the following Unit Prices within the times specified in the Contract Agreement subsequent to the date specified in the NOTICE TO PROCEED.

CONTRACT - THOMAS STREET IMPROVEMENTS, MITCHELL ROAD to CLIFF GOOKIN

ITEM	DESCRIPTION	QUANTITY	UNIT PRICE IN WORDS AND FIGURES	TOTAL PRICE
1.	Clearing & Grubbing	1 L.S.	forly thousand dollars and we costs	\$ 40,000.00
2.	Removal of Concrete	99 S.Y.	Thirty one dellars and mocats 31.00	\$ 3,069.00
3.	Removal of Asphalt Pavement	1227 S.Y.	Timenty dellars and No cuts 20.00	\$ 24,540.00
4.	Removal of Curb & Gutter	492 L.F.	and No Cots	\$ 10, 332.00
5.	Removal of Sign	9 Each	and wonts	\$ 900.00
6.	Removal of Pipes (All Size All Type)	163 L.F.	Sixty two dellars and we ats	\$ 10,106.00
7.	Removal of Inlets	1 Each	Two Thousand dollars and we will all	\$2,000.00
8.	Removal of Trees	3 Each	and thousand five hundred dollars and No arts 1,500.00	\$ 4,500.00
9.	Cold Milling of Bituminous Pavement, All Depths	410 S.Y.	South for cuts 4.75	\$ <u>1,947.50</u>

10.	Adjustment of Utility Appurtenance	4 Each	Two Thousand dollars and we ants	\$ 8,000-00
11.	Unclassified Excavation, FM, A	AH 2,570 C.Y.	Throng fore delats and wo conti	\$ 89,950.00
12.	Borrow Excavation, AH, FME, Class B9	500 C.Y.	And wo cuts 29.00	\$14,500.00
13.	Mowing	2 Acre	and my Cars	\$ 200.00
14.	Solid Sodding, All Types	7,500 S.Y.	Ten dollars and we cuts	\$ 75,000.00
15.	Temporary Silt Fence	3,400 L.F.	for dellars and	\$ 17,000.00
16.	Wattles, 12"	150 L.F.	Ten dellars and no conts	\$ 1,500-00
17.	Select Borrow (PM)	781 C.Y.	Turney none delars and no ents 29.00	\$ 22,643.00
18.	Granular Material (Crushed Stone)	755 C.Y.	dellars and no cuts	\$ 84,560:00
19.	Geotextile Fabric	3,816 S.Y.	fue dollars and wo cuts	\$ 19,080.00
20.	Granular Material (Clay Gravel)	340 C.Y.	Airly one dellars and fifty Cuts	\$ 31,110.00
21.	Hot Mix Asphalt, MT (9.5 mm)	1,149 TON	one hundred South	\$ 205,671.00
22.	Hot Mix Asphalt, MT (12.5 mm)	310 TON	Two hundred Turkers delars and wo ats 212.00	\$ 65,720.00
23.	Hot Mix Asphalt, MT (19 mm)	588 TON	Two hundred exhitisms dollars and wo conts	\$ 128,184.00

24.	Concrete Driveways With Reinforcement	406 S.Y.	Two dellars and weaks	\$ 49,532.00
25.	Combination Curb & Gutter	2,255 L.F.	fewly free dollars and 45.00	\$ 101,475.00
26.	Concrete Paved Flume	22 S.Y.	dellars and wo cuts	\$ 2,684.00
27.	Concrete Sidewalk	565 S.Y.	and fitz cuts	\$ <u>57,347.50</u>
28.	18" Reinforced Concrete Pipe, Class III	989 L.F.	dellars and wo cits	\$ 114,724.00
29.	Class B Structural Concrete, Minor Structures, Per Plans	18 C.Y.	Three Thousand from hundred dollars and as 3,500.00	s 63,000.00
30.	Reinforcing Steel	1,743 Lbs.	Two dellars and we conti	\$ 3,486.00
31.	Geotextile Fabric for Subsurface Drainage, Type III	762 S.Y.	for dellars and no cours 5.00	\$ 3,810.00
32.	Filter Material for Combination Storm Drain and/or Underdrains Type A, FM	63 C.Y.	and we cots	\$ 6,300.00
33.	Filter Material for Combination Storm Drain and/or Underdrains Type B, FM	83 C.Y.	and we est	\$ 8,800.00
34.	Castings	732 Lbs.	for dellars and No cots 5.00	\$ 3,660.00
35.	Gratings	600 Lbs.	fire dollars and no cuts 5.00	\$ 3,600.00
36.	6" Thermoplastic Traffic Stripe, Skip Yellow	1,650 L.F.	Fifty Cohs 2.50	\$ 4,125-00
37.	6" Thermoplastic Detail Stripe, Yellow	2,316 L.F.	Three dollars and Soundy for cats	\$ 8,685-00

38.	6" Thermoplastic Detail Stripe White	e, 1,107 L.F.	Three dellars and Soundy for cuts 3:75	\$ <u>4,151.25</u>
39.	6" Thermoplastic Edge Stripe, Edge White	2,850 L.F.	Thre dollars and Secondy for Cods 3.75	\$ 10,687.50
40.	6" Thermoplastic Traffic Stripe Continuous Yellow	e, 2,044 L.F.	Three dellars and Soundy fing Cubs	\$ 7,665.00
41.	Thermoplastic Legend, White	230.4 S.F.	Avo cuts 15.00	\$ 3, 456.00
42.	Thermoplastic Legend Stop Bar, White	696 L.F.	Six dallars and Tenenty from ents	\$ 4,350.00
43.	Temporary Traffic Stripe, Skip Yellow	3,300 L.F.	Thereby for ests	\$ 4,125.00
44.	Temporary Traffic Stripe, Detail Yellow	4,632 L.F.	one dellar and winty Cabs	\$ 8,800.80
45.	Temporary Traffic Stripe, Detail White	2,214 L.F.	wonly Colls	\$ 4,206.60
46.	Temporary Traffic Stripe, Edge White	5,700 L.F.	one dollar and Turney for and	\$ 7,125.00
47.	Temporary Traffic Stripe, Continuous Yellow	4,088 L.F.	one dollar and Trumby for outs	\$ 5,110.00
48.	Temporary Legend White,	460.8 S.F	Six dollars and Turnly functs	\$ 2,880.00
49.	Temporary Stop Bar, White	1,392 L.F.	Tro dellars and fifty Cuts	\$ 3,480.00
50.	Standard Roadside Signs	9 Each	fire hundred Sound no 575.00	s 5,175.00
51.	Segmental Block Retaining Wall	100 L.F.	dollars and wo cuts	\$ 15,000.00

52.	Roadway Construction Stakes	1 L.S.	dollars and wo unts	\$ 15,000.00
53.	Maintenance of Traffic	1 L.S.	Thirty Thousand dellars and we with 30,000.00	\$ 30,000.00
54.	Standard Roadside Construction Signs	22 Each	Two hundred fifty dellars and are unb 250.00	\$ 5,500.00
55.	Barricades, Type III, Double Faced	144 L.F.	Thinky Two dollars and fifty Cuts	\$ 4,680.00
56.	Mobilization	1 L.S.	deliges and no als	\$50,000.00
57.	Junction Box	1 Each	Three Thousand dollars and we cans 3,000.00	\$ 3,000.00
58.	18" Concrete Flared End Section	1 Each	Mudred dollars and word 2,500.00	\$2500.00
	Contingency Allowance for Latent Conditions*			\$_50,000.00

TOTAL OF BID ITEMS (1-58 plus Contingency Allowance)

\$ 1,537,539.15

Some million five hundred thirty Some Thousand fine hundred thirty (TOTAL IN WORDS)

Aire Rollars and fifteen cuts

* Use of contingency for Latent Conditions shall be specifically authorized in writing upon approval by authorized Owner Representative. The Contractor shall provide detailed cost information to clearly illustrate that the unit cost basis of the labor and materials are in line with the competitive pricing of the original contracted work. A final accounting of all contingency funds used will be made by issuance of a change order at the end of the project. At close-out of Contract, funds remaining in Contingency will be credited to owner by Change Order.

NOTE: BIDS shall include sales tax and all other applicable taxes and fees.

In case of discrepancies between unit price words and figures, words shall govern. In the case of discrepancies between the total price listed and the total price computed using Quantity multiplied by Unit Price (in words), the computed price as tabulated by the Engineer shall govern in determining the lowest base bid.

Bidder agrees that Bids may not be withdrawn within ninety (90) days after the actual date of the opening thereof. Should there be reasons why the contract cannot be awarded within the specified period; the time may be extended by mutual agreement between the Owner and the Bidder.

RESPEC'	TFULLY SUBMITTED:	
Company	Phillips Contracting Co. Jac	Attest:
Signature	Boll	SEAL (if Bid is by a Corporation)
Title	President	
Address	P.O. Box 7530	が、 では、 では、 では、 では、 では、 では、 では、 では
	Colombus MC 3970E	

- 296 - 296 - 296